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QUESTION 1

. d
(s} i) Find —-{rinzr-x) 4
[} Hence svalupse Eumi-. Laaw the anrwer in exset form

&) Sodve the inegaality LI-_:J. 3

-

{z) By wsing the substitstion w = ¥' +1 | find Fi!.‘l'l.ll.l:’iiﬁ' 3

(d) The polynomisl +*+2" +ax+B hasa factor (x+2) and when divided 2
by (2-2) theere is m remassder of 12, Find g and b

QUESTHON I

{a) i) Wrizdnhlh:mﬂtﬂﬁ*ﬂ} 4

(i) Find the exact mm—% in simphest form with rational demominstor.

(b) Salve Beoe™ x—Bain" = 5 for i< x <Iece 3

[:]Pmth-mlhmﬁujhdwﬁmduﬁ'—lllﬁﬁhhhrﬁhﬂ1 4

() Given that B W05 - ) o b g S04 4 i
4% F - )



QUESTION 3

{8} A particie moves in -lnuhl-mw-i:diqim:mﬁmm
origin 0 o the time t seconds is given by “”""%

(i) Bl thsy %;F-—-E

miﬂnhmﬂﬁﬂﬂiﬂuﬂﬁm
ﬁl&dﬂ-mﬂ-qq-ﬂﬁ'ﬂ-m

bl mmuﬂu—-ﬂuﬁ-m:' = 4oy the point (2o, ar') hay the
egation ¥+ = Zat +

ﬂhhhhiﬁrmmﬂnﬂﬂmm&h
{c} Fisd Jﬁu"mn&'
§

QUESTION 4
{8) Consider the function f{x) = 1sin 3¢

() Evahase .

mﬁdﬂnhhﬁﬂ“-ﬂ'ﬂﬂ.

ﬂhhmﬂﬂﬂmu:hhm
(iv) Find the derivative of x),

Dgia T ¥

(b} The roots o, [ and & of the eqeation 2¢* +95% - ITx-44=0 KN geomeetric | 8
PO e

(i) Show 87 = o
(i) Wrive dowm the value of ofid,
{uii) Find @, B and §.

QUESTION 5

() The acocderation of s particle i gives by %“_TF where x metres s the &
L o e e
(i) Show the velosity, r.ufhtp-ﬁdi,iuhnu-ut'xillﬂ-:lé.

{ii) Find 1 in terms af x

right of the origin
oo’ 4 fophe - 1 v oAt
() Fow e funceios J"%‘“"'[k? i

(i Stale: the domain and range
(8} Finud the value of y whin = .75
fiii}  Skeetch the curve of the function



QUESTION & QUESTION T
() The disgram bl sk the sectior of u eircle of radies 1 cm and angle § radians, {a) Find the macimum valoe of the finction = £ sin x , where % b in radisss, for the
The erea off the secie i 25 ow® T dommsin 0= x5 D fa full expluraiion & requined) 1
.0 | ﬂ:j.ﬁﬂhlﬂhlﬂl‘ulp'-hnﬂ-hunﬂflhﬁ.ﬂimhnm-ﬁlh
T (akow B== | bevel ground The point A is &t the edge of the bunker, and the ling AB lizs on leve
F : ground. The bunker is § metres wide and | metre deep. L

(i) B P dencaes the perimeter of the soctor , show { Thuh!h“mﬁAtﬁlminih]mH-uEllmﬂwmd,ﬂﬂhﬂu
r thasi r-:hrq.m of elevation o Ehurln-’fr}

|
‘ ir

- il Determine the vahue of ¢ which gives the minimum
© penmeier

: Mot o seale

{h}hfhhm{ﬁdﬂm-ﬁmuﬂuihhu—unﬁt*
wh‘lhq‘l'mdh.!ﬂ-ﬂlmﬂquHWT

is proportonal to (T-4) .
5
() Showthet T= 4+Ce* {where C and k are conmans) ssiafies Mewioa's '
biw of covling. I ] Mﬂ-ﬁnﬂbd'-m,uﬂuumﬁmuhhﬂmh
defined by the egastions
@) The ou side sir temperssure is 5°C and a hesting syssems breakioran
mhmwmnmmwmﬂ in half an ex(lloosal and y=-57 +(12ssay -]
hr.alrhtm-rhnhﬁhihm_mlﬁnlm

Whaste & and rmlhuhhmumdvuﬁﬁhmmnmﬂ‘ﬂ-hn
from the origin O &8 shows is the disgram.

(i) Given o =30*, how fir from A will the ball land?
(i) Mhmmmwmmhhu i = 30,

(v}  Find the rangs of valsey of i, to the earest degree, sl which the Ball gres
b it 500 bt will lamed i the right of 4
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